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(i) 12x%y + 8xy® — 15y3
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() t — 4tz, 2t + 6tz

(i) 7xy, 5xy, 3xy, — 2xy

(i) 5x =7y, 3y —4x + 2,2x = 3xy -5
(ivym>-=n?-1,n°-1-m% 1-m?-n
(V)3x+ 11 + 8z, 5x-7

(vi) @%b + ab + ab? -a%b + 2ba + 2a%b?
(Vi)x-y,y—2z,z-X
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() (t —4tz) + (2t + 6tz) =t — 4tz + 2t + 6tz
=t + 2t-4tz + 6tz

=(1+2)t+ (-4 +6)tz

=31+ 212

(i) 7xy + 5xy + 3xy =2xy = (7 + 5 + 3 = 2)xy
= (15-2) xy

= (13)xy

= 13xy

(i) (5x=7y) + By —4x + 2) + (2x - 3xy - 5)
=5x—-7y +3y—4x+ 2 +2x—-3xy—-5
=5x—-4x +2x-T7y +3y—-3xy + 2-5



=5-4+2)x + (-7 +3)y-3xy-3
=(7-4)x+ (-4)y—-3xy-3
=3x—-4y-3xy -3

(iv) (m?*=n?>=1) + (n*’=1-m? + (1 -m?-n?
=m’-n’-1+n°=1-m?+1-m?-n?
=m-m?-m?-n2+n?-n?-1-1+1
=(1-1-1m?+(-1+1-1n?>-2+1
=(1=-2)m2+ (-2 + n?-1

= (-1)m2 +(-1) n?-1

=-m’-n?-1

(V) (3x + 11 + 82) + (bx—7)
=3x+ 118z +5x-7
=3x+5x+8z+11-7
=(3+5x+8z+4
=8x+8z+4

(vi) (@%b + ab + ab?) + (-a’b + 2ba + 2a%b?)

= a’b + ab + ab? —a’b + 2ba + 2a°b?

= a’b —a’b + 2a’b? + ab® + ab + 2ba

= (1-"1)a’b + 2a’b? + ab + ab + 2ba (ab = ba)
= (0)a’b + 2a%b? + ab? + (1 + 2)ab

=0 + 2a’b? + ab® + 3ab

= 2a%b% + ab? + 3ab

(Vi) x=y) + (y—2) + (Z-X)
X—-y+y—z+zZ-X
=X—-X-Yy+Yy—-Z+Z
=(1-MDx+C-T+Ny+1-1+1)z
=0x + Oy + 0z

=0+0+0

=0
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(i) x> B T -5x2

(i) (@a+b)HI (a-b)
(i) 4x% = 3xy +8 HA x? + 5x + 4



(iv) 3xy — 2x? — 2y? 2 5x% — Txy + 5y?
(v) 5p2+ 292 - pq? | 4pq - 52 - 3p?
i) 5x - 10 H T x2 + 10x - 5

°d:

(i) X2 = (-5%°) = X% + 5x°
=(1+5)%x°
= (6)x% = 6x°

(D@+b)(a-b)=a+b-a+b
=a—-a+b+b
=(1-Ma+(1+1M1b
=0a+2b=2b

(iii) (4x% = 3xy + 8) — (x> + 5x + 4)
= 4x? - 3xy + 8 = x> —5x -4
=4x>-x2-3xy-5x + 8 -4
=(@4-1)x>-3xy-5x + 4
=3x2-3xy-5x + 4

(iv) (3xy — 2x% — 2y?) — (5%% — 7xy + 5y?)
= 3xy — 2x% — 2y? - 5x% + Txy — 5y?

= 3xy + 7xy — 2x? — 5x? — 2y? — 5y?
=B+ 7xy + (-22=5)X* + (-2 = 5)y?

= 10xy — 7x* = 7y?

= -7x%> = 7y? + 10xy

(v) (5p% + 29° - pg?) - (4pq - 59° - 3p?)
= 5p” + 2g° - pg” - 4pq +5q° + 3p°

= 5p? + 3p? + 29° +50° - pg® - 4pq

= (5 + 3)p? + (2 + 5)q° - pg® - 4pq

= 8p° + 79° - pq” - 4pq

(vi) (5x = 10) = (x> + 10x = 5)
= 5x-10 = x> = 10x +5
x>+ 5x—=10x-10 + 5
x> + (5-10)x = 5
-x>=5x~-5



UY 3: x + y + 2 UTW B & (A€ 7x - 8y H | FT eI AMGY?

BA: (x + y + z) U DR & AT 7x — 8y T ¥ AT A 9T AMB T
(7x=8y)-A=x+y+z
= (7x=-8y)-(x +y + 2)
=7x—=8y—-x-y-2
=6x-9y-2

Y 4: 2p + 6 H T SIS P 3p - q + 6 U Bl WMQ?

8@: (2p + 6) T HMT R SHSI M|
2p+6) +R=(3p-9 +6)
=(Bp-q+6)-(2p +6)
=3p-q+6-2p-6
=3p-2p—-q+6-6
=p-q+0
3TaRYPh Holh = p — q
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(i) -

(i) Zx -
(i) 9 — 6X
(|v) 3x —-4x -7
(v
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(x-3ATRE x =2 WAIWR
X—3=2-3=-1

(i) 2x -5 x = 2 WA R
2Xx-5=2x2-5
—4-5=-1



(i) 9 — 6x H x = 2 TG WX
9-6x=9-6%x2
-—9-12=-3

(V) 3x2—4x -7 Hx = 2 @A R
3 —4x-7=3x2x2-4x2-7
=12-8-7

=12-15=-3

Uy 2: i p = -1 8 O Fufafaa & v w9 ST

(i) 4p +5
(i) -3p? + 4p + 8
(i) 3(p—2) + 6

ed:

()4p + 5H p =-1 WA R
dp +5=4x(-1) +5
=-4+5=1

(ii) -3p® + 4p +8 W p = -1 WA W
3p? +4p + 8 =-3(-1)%+ 4(-1) + 8
- 3x1-4+8
=-3-4+8=1

(i) 3(p-2) + 6T p = -1 WA W
3p-2)+6=3(-1-2)+6
=3(-3)+6=-9+6 = -3
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(i) a® - b?
(i) a®> — ab + b?
(iii) a2 + b?

BH: () @2-b)Ha=2aqUb = 2TW@TWR
a-b?=(2)*-(-2)
—4-4=0

(i) @2 -ab+ b)) Ha=2aqUb = -2TWTWR
a’—ab + b? = (2)2-2x(-2) + (-2)?
=4+4+4=12

(ia? + b2 Ha=2dUb = -2 3@ W
a?+b% =272+ (-2)?
=4+4=8

Uy 4: IfE x = 1 3R y = 0 g Ot FufafRa & w1 39 Fifvm)

(i) 2x + 2y

(i) 2x% + y? +1

(i) 2x%y + 2x%y? +y?
(iv) X* + xy +5

e

(@x +2)Hx=1dy= 03T/ IR
2x+2y =2x1+2x0
=2+0=2

()2 +y>+ N Hx=1qUy = 0@ R
2x2 +y? + 1 =2(1)2 + (0% + 1
=2x1+0+1

=2+1=3

(i) (@xy+ 2x%y? +2) Hx = 1 YTy = 0 XA R
2x%y + 2x%y2 + y? = 2(1)>x 0 + 2(1)%x (0)*+ (0)?
=2x1x0+2x1x0+0

=0+0+0=0



(iv)(x2+xy+5)ﬁx:1HuTy:OT‘@|efq?
X2+ xy+5=(1)2%+1x0+5
=1+0+5=6
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Y 1: 5x2 § x2 BT OIS §RM

UY 4: G x = 4 B, @ 2x +8 BT HIF ERM

(A) 1
(B) 8
(©) 10
(D) 18

YUY 5: 5xy + 5y + 2 ¥ Ug &1 T@&m gt



(A) 2
(B) 4
O3
(D) 1

UY 6: 10xy + 5xy + y?+ 4y? BT HIH S
(A) 15xy + 8y?

(B) 15xy + 5y?
() 10xy + y2

(D) y* + 8y

IR: 1. (D), 2. (A), 3. (B), 4. (A), 5. (C), 6. (B)
Py w2t ) i aifor

(i) Sl o R UG, TP HEalld g |

(i) 9x3 + 8x + 5 H X BTN ... gl
(iii) 8% + 9y? + 5y% + 4x3 = ..o

(iv) fopft +ft ficiig e 1AM ... & A R IR HRaA1 B
g () Bud, (ii) 8, (iii) 123 + 14y? (iv) TRA|
/3

(i) o stistep! H &1 U B1d 8, 37 U USHd Heidh Pad g |
(i) 9x%y H y T T[UI 9% B

(iii) 5xy + 8xy + 2x = 15xy

(iv) 3% + 9H IR UG |

Bd: (i) AU, (i) 9, (i) 9, (iv) TG |
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U4 1: 9 # ¥ -5xy UCI3T|
e

9xy — (- 5xy) = 9xy + 5xy
= (9+ 5)xy = 14xy

UY 2: 14xy + 9y dYUT 6xy + 3y BT IRTHH JTd DA |

B¢ (14xy + 9y) + (bxy + 3y)

= 14xy + 9 + 6xy + 3y

= 14xy + bxy + 9 + 3y

= (14+ 6)xy + (9 +3)y

= 20xy + 12y

Y 3:9f¢ = 4 3R y = 2 1 x? - y? BT A J1d B
T (C—y) Ax=4dUTy = 2 HIIAITA R

X2 —y? = (4)? - (2)

=16-4=12

Y 4: (2x2 + 7x - 3) ¥ fpaq ue &2 uel ! fafau|
B: (¢ + 7x — 3) H A UG 2x2, 7x AT - 3 B

Y 5: 6x%y + 9x? W y BT UN® qa13C |

B: 6x%y + 92 H y BT U 6x2 g |
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(i) 2x% = 3xy
(i) 5xy + 10
e
(1)
1*23] Iy
¥ ¥
2y ~dxp
z/l\x -3 x ¥
(ii)
Syt 10
v v
Sxy <10
x ¥ 3

Y 2: (i) 632 + 2x — 4 3 (ii) x3+ 6x — 2 BT HF JId BIW S x = 2

od:

() 6x% + 2x — 4 H x = 2 WA R
6x° +2x—4 = 6(2)° + 2(2) -4
=6x4+4-4

=24 +4-4

=28-4=24

(i) 3+ 6x-2Hx = 2 WA T
X3+ 6x—2=(2) +6(2) -2
=8+12-2



=20-2
=18

UY 3: 453 - [9%2 - { -5 — (2 — 7X?) + 6x}] DI I HIVWI

BA: 43 — [9x% — { -5x3 — (7 + 7x®) + 6x}}
= 4x%> — [9x° — { -5 -2 + Tx2 + 6x}]

= 43 — [9%° + 5%3 + 2 — 7x% — 6X]

=43 - 9x° = 5x° = 2 + 7x° + 6X

=43 -5 - 9% + 7x® + 6x -2

=2 —2x> + 6x -2

u%ms:radﬂaﬁaﬁwaﬁﬁqammmwﬁﬁmmx: 3,a=-13Rb=-
2

()3x-5-x+9

(i) 2 — 8x + 4x +4
(i) 3a + 5-8a +1
(iv) 10-3b-4-5b
(V)2a—-2b-4-5+a

od:

()3x—=5-x+9 =2x +4
x = 3T@A R
2x+4=2B3)+4=6+4=10

(i) 2-8x+4x +4 =6 —-4x
x = 3 3@ W
6-4x=6-43)=6-12=-6

(ii)3a+5-8a+1=-5a+6
a=-1TGAI W

-5a + 6 = -5(-1) +6
=5+6=11

(iv) 10-3b—-4-5b = 6-8b
b= -2 3@ W



6-8b =6-8(-2)
=6+ 16=22

(V2a-2b-4-5+a=3a-2b-9
a=-138Rb=-2TWA W]
3a-2b-9=3(-1)-2(-2)-9
=-3+4-9=-8



